Try in of complete denture

Instruments and materials:
1) Patient’s file
2) Wax dentures.
3) Articulator.
4) Bowl of cold water.
5) Bunsen burner.
6) Wax knife.
7) Sheet of modeling wax.
8) Lecron carver.
9) Indelible pencil  
-The instruments must be sterile.

Objectives of the try in on complete denture:
-To verify the vertical and horizontal relationships registered at the bite registration step.
-To check that the arrangement of the teeth is such that speech and mastication are proper.

Basic guides to developing facial and functional harmony:
-First we determine the vertical dimension 
If the vertical dimension was changed, then we will obtain different centric relation. That’s why we should always start with the vertical dimension.
-horizontal relationship 
-the appearance of the patient also should be studied and modifications are made in the arrangement of the teeth to obtain a harmonious effect with the patient’s face. 

At the beginning we check each wax denture alone. Then we put both wax dentures together and check:
-Appearance 
-Centre line (midline)
-Anterior occlusal plane 
-Shape of the teeth 
-Size of the teeth 
-Shade and blend of the teeth 
-Profile of the lip form 
-Amount of tooth visible 
-Regularity of the teeth 
-Balanced occlusion (the last step)

Put first the maxillary wax denture, check everything that you have checked during the bite registration
-lip support
-incisal show
-occlusal plane anterior and posterior 
-phonetics
Phonetics specifically related to the upper:
mainly ‘F’ sound 

Only then you can put the mandibular wax denture
 -midline should be coincidence with the upper midline
-check vertical dimension. Make sure that the FWS that you have achieved during bite registration is actually maintained in the try in

Last step is to check the centric relation 

Verification of vertical dimension:
-The vertical dimension at occlusion and at rest must be given careful consideration.
-You should verify VDR, VDO and calculate amount of FWS.

-The freeway space should be 2-4mm
If we ended up with -2mm FWS, we have two options:
1)Remove the upper and lower teeth, make new upper and lower wax rims and repeat the bite registration.
2) fix it chairside (only if we have used facebow)
In our situation, we can’t fix it chairside; since we are using average value articulator which doesn’t accept facebow

-Most of the cases we are dealing with are simple enough that there’s no need for facebow transfer and semi-adjustable articulator 
-Fox plane is a device used to check the occlusal plane orientation 
-Facebow is a device used to transfer the relation of the maxilla to the hinge axis. Arch of motion (opening and closing) in the semi-adjustable articulator mimics exactly the arch of motion (opening and closing) in the patient
-So if we used an accurate facebow transfer that means that an error in the VD of up to 4 mm can be adjusted by adjusting the Incisal pin and resetting the teeth according to the new vertical dimension as simple as that, and you can do try in during the session and send the patient home 
-But if we didn’t use a facebow transfer, we can’t retain our wax dentures upper and lower and we have to decide; whether to do bite registration for upper and lower or only the lower. 
During any type of error, we always start in the upper wax denture.
-If we are happy with the upper wax rim (incisal show, phonetics, lip support..) keep it and do all the adjustments at the expense of the lower wax denture.
•Teeth are to be removed from the lower wax denture. 
•The upper wax denture and lower baseplate are reseated on the models on the articulator. 
•The pin may now be adjusted to the required dimension and a wax occlusion rim constructed on the lower base to this height. 
•The upper wax denture and lower occlusion rim are now returned to the mouth and a new CR may be established 
•lower model to be rearticulated in its correct position with the articulator returned to zero. 
•Reset the teeth. 
-If we had a problem in the upper wax denture then we have to redo the whole bite registration.

Verification of centric relation:

After vertical dimension has been determined, CR is verified: 
1)Intraoral observation of intercuspation 
You should memorize the appearance of occlusion on the articulator, transfer it to the patient mouth and make sure that the intercuspation between the teeth looks the same on the articulator and in the patient’s mouth
2)Observation of intercuspation when the mandible is pulled back by the patient (or when you guide the patient into centric relation) as far as it will go and closure is stopped at the 1st tooth contact. 
3)Any error in CR will be apparent when the teeth slide over each other. Especially, if anatomical teeth are used. 
Guide the patient into centric relation (same as we did in centric relation registration) and tell him to go very slowly.
Notice the very first touch between the teeth
Ideally they should touch simultaneously and the patient should close in centric relation with proper intercuspation.
If we have slight shift in centric relation, we can notice premature contact on one tooth on one side. The patient of course will continue closing and what will happen is a slide 
-At this point it will appear that everything is interdigitated and looks proper, however; we had a premature contact followed by slide
so if you don’t capture such error at this stage, for sure it will appear during “insertion”. In such case we have to do:
1)Clinical remount 
2)If severe; we must redo one or both dentures 

How do we check occlusion?
-Guide your patient slowly, watch the very first contact.
-If there’s a premature contact on one side then we have a problem in centric relation. If all the teeth contact at the same time right and left then our centric relation is good 

Once it is determined that the mounting is incorrect, a preliminary observation of esthetics is made. (As we said before we should assess first the upper wax denture, make sure that it’s satisfactory, if it’s satisfactory then we do all the corrections on the expense of the lower wax denture)

[image: ]
Here we had a premature contact on posterior teeth, which made the CR in error.
We removed the posterior teeth (premolars and molars) on each side.
In order not to mix them up and make the procedure clean and tidy you bring a piece of beading wax and set your acrylic teeth accordingly; right side and left side.
[image: ]
Then you make new posterior wax rims. The height of these wax rims should be up to the cusp of canine
[image: ]
Posteriorly: wax rims
anteriorly: acrylic teeth that we have already checked for esthetics, phonetics and vertical dimension 
-we are happy with everything, but we had a problem in CR registration 

Put it in the patient mouth
[image: ]

At this point you guide the patient
Upper posterior teeth into the lower wax rims, so now you obtain new centric relation, transfer it to the articulator and remount it.


-Since we have removed the posterior teeth, how can we control the vertical dimension?
The overbite between the anterior teeth may reach 0.5mm, 2mm or 3mm because the posterior teeth are going into the soft wax.
Before removing the lower posterior teeth we should have memory about how things looked before. 
The vertical dimension was proper 
You should memorize the amount of overlap between the anterior teeth (our reference for the new bite)
I ask the patient to close up until I reach our reference (mostly no more than 1mm overlap) 
Once we reached the 1mm overlap I tell my patient to stop 

If we had a slight error in CR, it gets demonstrated to us in the clinic by small slide of the teeth over each other. 
Causes for inaccurate centric relation (Differential diagnosis):
1- Wrong CR registration in the clinic. 
we soften the wax, cut it into 2 halves, we put them on both sides at the same time, then we get the CR 
If we soften one side at a time and register the CR; we will have an error in the CR (Supposing you have guided your patient correctly, and the actual position was correct); Patient will bite on one side more than the other side because wax is not evenly soft on both sides 
-our time was wasted by softening two pieces of wax separately.
-It’s very important to have evenly soft wax on both sides, and after getting it out from the patient mouth cool it right away under running water

2- We did proper softening, but when the patient bite down we didn’t have firm grip.

3- the wax wasn’t hard enough when we removed it from the patient mouth

4- mounting was not proper 


 Check appearance:
We put both upper and lower wax dentures in position: 
I. Check the lip form to ensure that the upper and lower anterior teeth are in their correct positions. 
2. Check the midline. 
3. Check the orientation of the occlusal plane. 
4. Check that the shade and mould of teeth are satisfactory. 
5. Check the arrangement of the teeth to ensure that they give a pleasing appearance.

Then we check the speech








Errors during try in:
[image: ]
-midline is shifted, tilted and canted 
-too much incisal show 
-Probably the vertical dimension is correct, the CR also correct but unfortunately we will have to do the whole work because the appearance is not proper. 

[image: ]
-Reversed occlusal plane orientation (usually the upper posterior teeth should be sloping upwards following the curve of spee)
-The posterior teeth here are longer than the anterior teeth 
-The whole plane is canted to the right side 

[image: ]
-over-supported lip 
-gummy smile 
-too much incisal show 
-we should redo the bite registration 

[image: ]
-too much show of the lower denture
-no show at all of the upper denture 
-We should start with the upper wax rim. Any changes we need to do for the wax rims to get a proper vertical dimension should be done on the lower wax rim 
-In well-developed ridges, we will need to remove a lot of wax.
Some dentists remove good amount from the lower wax and afraid to end up with little wax, so they start to remove form the upper one, to have a proper FWS.  
-inter-arch space, should be examined in the first appointment 
The way to examine inter-arch space is to ask the patient to relax, open his lips without opening his mouth and see how much space do you have between the maxilla and the mandible
Denture base thickness around 2mm
I should have at least 20mm, 10mm for each denture
If the arches are touching each other. This patient doesn’t have enough inter-arch space; we should send him for alveolectomy or alveoloplasty. 
The critical step to determine if the patient has enough inter-arch space is bite registration. Once you have the casts mounted remove the wax rims and base plate, and observe the distance between the two mounted casts.
if you don’t have enough space at that point you can send the patient for alveolectomy or  alveoloplasty 
If we have a limited space and you don’t want to be too aggressive and send the patient for surgery, you will need to trim a lot of the teeth and trim the base plate to be able to set the teeth.
The denture base will be thinner than we need and teeth are slightly shorter than ideal.

-You have to plan your patient always strategically. 
Some patients can’t afford implants right now, maybe in a couple of years they would.
So we don’t remove bone that they will need later on for implants just to construct the conventional complete denture 
Don’t send the patient for alveolectomy or alveoloplasty unless he really needs it. Usually we can achieve the space by trimming the teeth and the base plate. Sometimes you may set up the acrylic teeth on the cast directly if you don’t have any inter-arch space

Protrusive registration:
Once the trial dentures are verified in regards to esthetics, phonetics and occlusion; a protrusive registration is made to set the proper condylar inclination on the articulator.
*Suppose we are dealing with semi-adjustable articulator
While using semi-adjustable articulator we should use:
1)the facebow 
2)A protrusive registration 

Procedure:
[image: ]
This type of wax is called aluwax, but you can use any type of wax. 

[image: ]
You put a piece of wax on the posterior area, bilateral (molars and premolars), not horseshoe-shaped (don’t put on the anterior area)
  

[image: ]
After you have put it in the patient mouth, ask the patient to protrude his mandible (bring his teeth edge to edge). 
At this point you record the indentation of the upper posterior teeth into the lower wax.

[image: ]
A protrusive record is achieved.




In the semi-adjustable articulator we have the luxury of fitting the condylar guidance angle to be exactly as in the patient mouth. 

[image: ]
[image: ]
-In this picture you can notice that the cusp of the upper canine is not touching the wax.
The condylar guidance angle of the patient is not zero degrees. 

We should have a proper placement or seating of the upper denture teeth in the wax.

[image: ]
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-Here we got a proper placement of the upper denture teeth in the wax
The condylar guidance angle is about 30 degrees (average is 33 degrees)
Our average value articulator is manufactured with 33 degrees condylar guidance angle 

After we have set the condylar guidance angle we need to check if the balanced occlusion was maintained 


Posterior palatal seal area:

-Demonstrated on the patient and then transferred to the cast. 
-Some dentists do it during the secondary impression, others during try in.
(It doesn’t make any difference, both are accurate) 
-Posterior border of the denture is determined in the mouth and its location is transferred to the cast. 
Procedure:
We have 2 anatomic landmarks that would help us to allocate the post dam area or palatal seal area 
These 2 anatomic landmarks are:
1-hamular notches
2-fovea palatinae (even if they are not prominent you can still see some depressions in this area)

1) 
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-with your indelible pencil, put points on both hamular notches
-put couple of dots on the fovea palatinae area 
- ask your patient to say “AHH” or to close his nose and blow strongly “Valsalva maneuver”
-the movable part of the soft palate is going to be elevated, and a clear line will appear between the movable and non-movable tissues of the soft palate
We call this line:
-vibrating line
-“AHH” line 

Valsalva maneuver:
In surgery; when you extract upper molar and suspect that we got into the sinus or created a communication between the sinus and the oral cavity, we ask the patient to close his nose and blow 
If air bubbles are getting out through the sinus that means we have a communication between the sinus and the oral cavity
If there are no air bubbles getting out that means that everything is intact.

-Notice the relationship between the line and the fovea palatinae (anterior to them, crossing them, or posterior to them) and then simply just draw the line.

-In the picture above the vibrating line is crossing the fovea palatinae

-transfer this line to the cast by putting the denture base in the patient mouth.
 -if it is at the same level of the obtained vibrating line, then transfer it to the cast and draw the vibrating line 
[image: ]

- if the denture is not accurate (under-extended, over-extended); with a periodontal probe, measure the distance between the acrylic base and the vibrating line and then just transfer it to the cast the same way and draw the vibrating line 

[image: ]
-In this case the denture base is under-extended
[image: ]

2) [bookmark: _GoBack] Memorize where the vibrating line is found in the patient’s mouth.
For ex.: 
The vibrating line is found 2mm anterior to the fovea palatine, and on the cast we have prominent fovea palatinae and hamular notches. Just draw it on your cast without even using the denture base.


Width of posterior palatal seal area:

-Width of the area to be carved is measured through a burnisher or any blunt instrument (we can use the back end of the dental mirror) 
-Do a compression and measure the amount of compressible tissues 

[image: ]

Usually, compression in the midline laterally (closer to the hamular notch) is going to be minor compared in the middle area; because of the underlying bony structure. 

Draw it as a butterfly shape
[image: ]

-Carving the post dam area is done either by the blade or lecron carver.
-We start from the vibrating line toward the anterior area.
-Carving in the midline is around zero 
-Middle part is 1.5mm deep 
-hamular notch around zero 
-Same is applied when you are going toward the anterior area, the deepest part is posteriorly.

It’s our job to carve the post dam area, not the technician 

Patient acceptance of the arrangement of teeth:
We should obtain patient acceptance for the appearance of the denture because at the end he will wear the denture.
For you as a dentist you think it looks okay, but for the patient he might ask you to do small modifications to the teeth so they will look the way he wants them to look.
Patient must be given the opportunity to observe and approve the final arrangement of the anterior teeth at the try in appointment.
The dentures should not be completed until approval is obtained. 
Preferably written approval
Even when patients say that they “do not care how their teeth look”, they do care. Their friends and family will comment on the denture once they get home, and then they will come back to you asking you to remake the denture, and they have the right to ask it from you with no fees. 
If you got your patient sign’s that he is happy with it, then he can ask you to redo it but he has to pay a fee for it. 
That’s why you should get written approval from your patient
Written by: Mohammed Gara 
Corrected by: Linda Morgan
Goodluck  
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Fig. 5-1a~f Common errors in anterior teeth arrangement. a: The center line is off to one side. b: Edges of
the anterior teeth are in line and the occlusal plane is inclined. This gives an artificial appearance. ¢: The artifi-
cial teeth are too small and white. d: The upper anterior teeth are arranged too low and a large amount of the
gingiva(denture base) is exposed during smiling. e: The lower anterior teeth are too visible when slightly open-
inj f: The support for the upper lip is inadequate producing the elde
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